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i 4 JE = Wae | %K F i fiE T fE g2y ]

xR & )l 10. 00 | #H%f 100 1, 000 1, 080 972 864
IENE w5 10. 00 | #H5%f 616 6,160 2,376 2,036 1,512
X 5D I 12. 00 | #H%f 711 8, 532 975 773 324
1T NAEL E B 4. 00| FH%f 20 80| 3,348| 3,240| 3,132
E 0.20 #A%t| 1,080 2016 140 138 97

H % i 3. 00| FHxf 252 756 1,836 1,471 756
H A [T 1. 00| FHxf 305 305 864 675 432
ENIEE so0 fst| 4] 20| 3,240] 2,835 2 160

AN B 2. 00| FH*} 266 532 864 730 432
= w5 4. 00| FH%f 174 696 1,080 902 648
= g | ao0|mEx| 7| 2,896 1,404 1,070 648

[N 5 5. 00| FHxf 1,008 5,040 1,296| 1,089 864
EN R 5.00 fxt| 221 1,105 1,566 1,303 864

~7 h= h M 3. 00 [ FHx%} 117 351 1,296 1,293 972
(= JEE I 2. 00| FH%f 35 70| 3,456| 2,970| 2,484
£ A L 10. 00| AHxf 1, 366 13,660 2,160 851 324
LA A It fE 10. 00 | #H%f 548 5, 480 1,728 1, 441 324
Y=L F R kB 4. 00 | FHxf 99 396 1,404 1,247 1,166
w om | a00| k%F| 230 920 864| 563 324

Tuyal— (r— 6. 00 | FHxf 155 930 2,808| 2,154| 1,080
= 1| 6.00| #Exf| 186 1,116 2,160 2,101| 1,296

L xon LS 4. 00 | FH%f 12 48| 2,808 2,727| 2,484
AEHEE w5 0. 10| #Hxf | 2,700 270 173 129 65
ZDXH E % 0. 20 | FH %} 1, 800 360 92 81 49
LU E B 0. 20| FH%f 210 42 92 73 26
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LT JE 1 &= BR7e | 8%k E=E e fiE HHiE ZAE

Aava 7 4 U ¥ | 13.00] fH%t 6 78 2,646

HEEBD & [ 0. 27| FHxI 2,740 740 346 306 248

XX = ) 0. 25| FA%t 9, 727 2, 440 432 342 162




